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Read the passage and answer to the questions(1-5):
Blogs, online versions of diaries which is very much
customized to individual person have been a craze for
quite some time now. Some of us, before the Internet
age, used to maintain a small diary to jot down random
thoughts, reflections, sayings, poems, and other such
stuff Their online versions, however, are much more
than that. The biggest difference between a blog and an
|individual's diary is that while the latter was a very
private affair accessible not even to family members, a
|blog is a public account. In fact the whole world
connected to the internet gets to read its contents if they
come across it. What blogger should keep in mind while
blogging is that by displaying our thoughts, emotions,
opinions and personal life in full public glory, we are
irevealmg a part of our private life. We are giving
nuts:dcrs, strangers, friends, colleagues, and relatives a
full view of what’s happening inside us and without
lives, something we would hesitate to do in real life.
Once blogging begins, it’s difficult to control and we
end up sharing our personal thoughts and emotions that
we would otherwise have kept to ourselves. The blog
entices us, and we fall to be bait, Blogs don’t preserve
our anonymity. They let us publish our pictures,
professional and personal details, physical address and
locations, etc. The biggest precaution to be observed
therefore is to think twice before publishing anything,
and ask oneself if one would like to make such matters
| public. The blog readers try to judge us, understand us,
get information about us, and take pleasure while

eeping into our private lives without realising it.

Blogs are___.

| A. diaries B. personal diaries
C. line diaries D. official diaries

TN : Passage a7 &Y 71’ Wiz- Blogs, online versions
of diaries which is very much customized to individual
person have been a craze for quite some time now. 94
4TT 931 - Blogs are dmnes

Ans A.

Earlier the personal diaries were not available even
to family members but blog can be read by ___.
A. family and friends B. friends only
C. anyone D. relatives
Yt : Passage <7 4th et wite- In fact the whole
world connected to the internet gets to read its
contents if they come across it. ©i2 Blog % *1¢te
71 | Personal diary (14 @9l (36 were «ee! =t | &g
blog @M &= T |
Ans : C.

1| B:2020-2021 (37)

Once we start blogging, we get swayed awa’yl

and___ .
A. share our personal feelings B. comment mindlessly
C. share our thoughts D. compliment others
TN : Passage «¥ Ciegs fates 911 QTR STHALL ST
“personal thoughts and emotions”™ & C1¥/ ¥, (W1 ¥ | |
| ST pEI‘SDnHl feelmgs ﬁﬂfﬁ] :
Ans : C, '

. While bluggmg the writers should be carcl'u] as

the readers__

A. compliment them B. judge them

C. annoy them D. make fun of them
[N : Passage 97 ¥ 7RA 7w (- The blog readers
try to judge us, understand us, get information about
| us-and take pleasure while peeping into our private

lives without realising it. Wfe- blog writer I blog

frTs b ST SR 7 NS W @, the readers blugﬁ‘v‘
“Ite blog writer Fﬂudgem e
Ans B. '

| A word from the pnssaﬂe whu:h means the same
as “the state of remaining unknown”.
A. reflections B. anonymity
C. precaution D. pleasure
M : Online blog @9 ¢¥@ blogger 3 M &2 w1
% | Wnter dﬁ! W 71 GFE The state of remaining
unknown’ - < T 1. Anunymlty *IFﬂ ‘thFﬂ Elﬂf ZCEl-
?N@WWH‘J@W o i .
--> The stafé of remﬂmmg lmknuvm Anunymlty
Ans : B. . S .
m Select the wurd that must nearly means the word

“Proffer”.
A. Predict B. Tender
C. Wastrel

D. Mendicant
Tt : Proffer - ¢oM 1, fats vha | |

Proffer <3 ¥ Synonym <3t Antonym: -

Synonyms: Tender, Proposal, Offering, Proposition,
Overture, Hold Forth, Extend, Present.
Antonyms: Withdraw, Revoke,. Cuuntcmmnd, Pick off,
Shift, Diverge, Remove, Retreat, Take off;
Retire, Sepa:ate, Take amde, Gatherm

Ans : B.
. Most nearly uppns:te word of “Banal" is
A. Sincere B. Wealthy ,
C Trustworthy D. Extmm'limary

A : Banal - sorfes; g, |95 | |

Banal <% 3% Synonym <3 Antonym:

Synonyms: Traditional, Customary, Conventional,
Comy, Trite, Trivial, Potty, Insignificant,
Dime, Fiddling, Hackneyed, Stale.

Antonyms: Exftraordinary, Original, Real, Actual, True,
Genuine, Authentic, Elementary, Primitive, ‘

Initial, Basic, Pristine, Ingenious, Radical,

Foundation, Root.

Ans: D
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(B} “Dead Ringer” refers to
A A duplicate B. The hottest day

C. Outstanding D. Don’t rely on it
et : Dead Ringer - =€ 2wt i1 f&g =1 o4t |
afts =0 Wi wir- (i) A duplicate of the exact nature,
(i1) A substitute for something.
(i) An imposter.

Ans : A.

m The hypocrite__
should display.
A. shows/apprehend B. depicts/possess

C. decnise/hold D. simulates/admire
YT : Depicts - SF =1, fom 31 =1
Possess - S48 F41 |

The hypocrite depicts/possess feeling which s/he feels
s/he should display.

w¢: S8 ¢ wfors s <@ 1 er ol T e TE A I |

wfe, depicts/possess IRZE TATAZ AL T ST A |
| Ans : B.

I Arrange the followings in sequence (Dictionary Form):

feeling which s/he feels s/he

i. dehumidifies ii. dehumidified
iii. dehumidifier iv. dehumanising
Av,u,u,1 By, il i Coiv, il i,i D, i, b, i, iv

Gt : Dictionary form @ w@+2 Letter W@l =@ |
HI6TE word 99 29 dehum 448 993 | @3 @ a e iv-

| | S0 ST ST | a3 iv - gt dehumidifie */@ @32 |
TR ii WA | G2 r YR i @9 O § - option T |

Ans: A.

"-.._,_____._-_._____,.r-'"

[I} COVID 19 &t w0 5w wwgs at-
A. oa gz B. FWI&< 7arg 3@ w11
C. Aeael D. SIS *qdiey gau
gt : COVID 19 efewmne o SR_ow oy =
oS! | TARTE e P e WU |
Ans : C.
EWhich set is different?
A. England-Scotland

B. India-Maldives
C. North Korea-South Korea D. US-Mexico

IR : W B@RE sER T England-Scotland,

North Korea-South Korea, US-Mexico #iritoif¥ s=g sz
3 A ¢ | 7@, India-Maldives Sow<s opd = |

Ans : B.

(B et oot ot & spgr Srica 51T A ST

A F% 3 B.FRWEST IR C.2P1 M@ D. @ios

R : BIFT : TR RS = a + b+ ab
100

x(-x) T
100 (R, % = ZF=x]

=X-X+

100
gdie, TEPRAZ A |

Ans: C.

Al C =@ +, D 9w x, B W +, A A —, TCH T

330B6A32C45D12 =?
A. 525 B. 543
C. 558 D. 563

Nt : 330B6A32C45D12 =330 +6—-32+45 x 12
=55—-32+540=563

Ans: D.
15. ATUB a1 o0, CTH A <7 o, DT A @ 011 D e
B <3 Ty 7o 32

A. SI5ICST ©12 B. TwiTSt S

C. TTel ©1% D. YIS S
T g L, 4 o |
w e |

(515105 Si%) (ST )

- D, B @3 oioreel @ widis B, D @7 5151081 SIZ |

Ans : A. '

[ A, B e it 78 C weers o1t | D, A STot ¥,
f&® C oo =t | E, B o <ito!, 3@ A et «ivt |
Twea e W™ TR @

A. A B.B C.C

EI: B>A>C, A>D>C, B>E> A

SB>E>A>D>C

Toak Tweld e e Il = A

Ans : A,

If arrangement of 12593 is to 35291 and 29684 s |
to 46982, therefore 72936 is to -

D.D

A, 72936 B. 69237 C.23769 D. 37692 |
TR : 9T, I
[1][2]1[5]1 9] (3] : 3] (5] [2] [9] [T
a bcde ecbda
12]1[9][6 8|4:4 61(9]18](2]
abcde e cb d a
‘-729||3 6] : [6]1 9] [21[31[7]

a b c d e ecbd,a

AnsB '
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i SR | s ctie Roi=ats
A. X 8 TR IPFIR BN TRIR ¢ F Ror B I
B. WIwFm™ 1% Y037 s oot e A1 |
C. 99 TR Wit we @ fites efsama s
A6 CTES 47 o 94

D. T8 Fam 9t Mg 8 uIRmm e ot o i

I : WIREET-
Q Fed=at - |
o UG ¢l TR % N 0T '@ 9T v, St 9 9 |

* TR G WA Wew ys Ep oa v @i fice 7w
T AW 8 (T ¢ GRS ¥, B (T B I 7 7 |

® SN WG T T 9.0 WATSe Q0 (¥ 7 403 ¢ e |
® IR (T (AT MG 932 S vt Wit o G a9 w1 |
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YT aﬁﬁﬁqﬁmiﬁwwﬁm
-Wfamﬂwwmwmwr . o f5.fE0 fofs - ﬁa—m@lﬁﬂﬁmm(m%)u
o (79 TAR T YN, o0 @ I A2 IEAA | -Tmmtﬂaﬂwﬁm(:ms)t
o <7, FIATIBIAG 8 IR @*IF FALIR o8 FAER 1 | o GFTY MF (3%QY) 1 -
o (78 TR W0 AMT-HT 8 N SPRAN AR ©F 6rF 4 | -ﬂﬁ’mﬂﬁmw(amu)l *
o f5 o <, OIR TR TS ®ITE R, S g AF | | caﬁw%‘aﬂm‘weﬁﬁwwmah)l
o S Ty oW, et ol 91 ©loRl8 @9 eva o saEE L Ans Bt |
o <[fét YAl SFY A SEIOR <Al fog waca 71 @t wer | | PN A Tg omerR R
fﬂwmlﬂﬁmwmmwwmt C. Stqni=1 TR D. FR1R T A
Ans : C. . TN : ST ST TN ST (AR, (T 5 0 |
||:l Arrange the words given helnwmammnmgﬁ:l sequence. FUEAE NGITAS G i 3 RO o7 Gowm A=A St
1. Probation, 2. Interview, 3. Selection, o v senfoe 9ot e 151 e | o el Ry
4. Appointment, 5. Advertisement, 6. Application = A SR ﬁﬁﬁ‘ﬁﬁmﬁﬁﬂa HTﬁI "rﬁn ﬁm LG ETE
A.5 6,2 3,4, 1 B.56,3,2,4,1 Ans:B. = |
|' C56423] D.6,5,4,2,3,1 zsmmmmmW
It : (5) Advertisement — (6) Application —» . ||  A.J¥ImEe B, PRIGS] Ctﬁ’ffﬁﬂﬁ D. v
(2) Interview = (3) Selcctmn—}@) Appnmtment - YNT: ATYEACEF TS (4P : -
[| = (1) Probation - = i e R i Sl 4 C'T""‘F
AN VATl TR e S THRINET B2 | SO JETEH
son: nuclear :: ? : extended mwﬁ gm e
| A.father  B.brother C.cousin D. daughter Wﬁﬁi‘ﬂ%‘ﬁ“ﬁ:ﬁ@w 7GR 31
TN : Nuclear family (4% %4fF@m)-93 st 7t Son - Ans D, =
a3 extended family (Gﬁﬂt ﬂﬁ‘ma) mumw cnusm | . W w-&u
Ans: C. - - T A. 4] B. 7 GE C.d3sM D, wHaug
I h | ot BrmiE =y - mﬁrv@ﬁamﬁm#ﬂ@:
| (et cr. S SR S A
SR 7 (0-38) : AnsiA.
.ﬁﬁﬁa%%%ﬁa%ﬁmﬁammw 27. Tt FRo T
TG (21) TR R TR e Wi wsay_ (22) | gm@;ﬁ gm;:m
R R (23)  OnF TS el oY <A
m@?‘;j?fﬁmﬁﬁﬂMWEﬂﬁﬁ 24) | TR« T TG G TS G TP F el |
Al A. Roe et sfre *REM @m T IRE AW T 4Y F) IR 9
B. STV oo s WWWWWWWW
C. 9T T T TS ,TWE“WWEWWE' f ol
1 GIE SFHIEE T AR L ' =
T T e TR e | | Al i““’; ;’“’""'B“’B’“‘m T
— ST | _ ‘W'l C. usfq D. Shd
— ﬁ—ﬁl | BRI W‘ﬁwm - :
| -ﬂﬁ-ww-tﬂﬂwfiﬂ|
e[S El | Al bt
: : - ¥, ﬂ!-m-tqwaqﬂ: -
i o ok il N A A skl
Ans : A. TS, - l'ﬂ‘ﬁ-ﬂ*ﬁﬁ'ﬂil e
.A EWHFIZEEIIW -B%"TFB"IW Tt : @mmwﬁaﬁsﬁq ﬁt‘i‘ﬂ‘\'iﬁfﬁa
C. 4 D. s 56 ;:;*ﬂﬂ-:iiﬂ::'ﬁﬁﬂﬁ'ﬁ,hﬁ-ﬁffﬂﬂmﬁﬁ
N + AR 87T DI, L
AR (3539), TN FRE WS (353p), I (:.:m.:.) X ‘ﬁ; o, T, g, ”ﬁmw'
{IACIS (3599), CTEA AR TE (3508), T (3vov), T3 .'“ — :ﬂ T :
ﬂs(:igb),@?mﬁ(bhﬂ)ml g by Comren Do
I A vl e B, meaeme fedemem | | OO WWWWWWW@
C. vre fegfem D, qrraea Frafrems oo




H o RS ww 3 e B 4+7+10 + 13 + ....... ARI0T G 217 3012
A. et B. foed ~ A.87w%  B.92ww  C.100%% D.109 %W
C. A D. effeafe] T : @A, a=4,d=3 _
| | ==t : 2oty vem oo @ vt : . a+(m-1)d=301 >4+ {n-1)d=301
woE | 9% | 9OW % | = 4+ (n—1)3 =301
oA | Sreet | eleA | Areigr — 3(n—1)=297 =>n= 100
oW | om | ereetel | afeae) | Ans : C.
SUER | RN | SR | W ﬂqwmmm.u14mn.ﬂ1.u35:a¢ﬁm-u'r49m
Ans : B &D. ) w1 Yo FS?
A.8 B. 10 C.13 D. 16
It : 56 AR o1 = BT 71,18 x 1.2
= 49xx=35x14=x=10
a—b =4, R ab = 60T, a + b= R T F? Ans : B.
A.£4 B.+8 | Gl = wwerem weEa ¢ 7 B, o 5 IT, o< THe! 3
C.+12 D.+16 @IWWWWWW?@?
ML : (a + b)? = (a — b)*+ dab = 4>+ 4.60 = 256 A. 124 B. 142 C. 136 D. 180
Sw w6 4t : I rda vRarge = 2 (ab + be + ca)
Ans : D. « _.2('}':-c5+5x3+3><7)
[F] o < 1 O 7R A O R o (@ W | | O = Lok 1
S s D.
77 T 3R TR T T 0 TR G =t w7 7.5 St e 5 O 8 74 3600 b
T AT
EWT':”:;?@E ;ﬂ mca;ﬁ?i WD' il A.5000  B.5400 C. 6000  D. 6400
| . WG T = 4X = | T=!|?IT‘!|IT=I=-I—)H—I —]
TS, (x+ 5+ 5) : (4x +5) = 1:2 100
l = 4x +5 =2x+20=>2x=15=x=— | i 8% 75
4x+5 2 2
15 Ans : C. ‘ ¥, |
- N g TEIE A = 4 x— =30 T | i) 0 (I TS G
| : - A.165 B.247 C.254 D.3.14
e ' TN : 1 I =2.471 994 '
R 1f (6x = y, 13) = (1, 3x + 2y), then find out the | | Ans : B.
value of (X, ¥). _ 9+57+11. _ _
‘ s By _cas De.s | et e bsas |
T 61{—}'=_1......... (1) ' : ) !
3x + 2y = 13..eee (i) 7t - []3.8xl.9+5.’?+11.2 nf(—-]——)
() TS, y = 6% — Lowesenn, (i) 16) 20/ ‘
(i) e, 3x+2(6x—1)=13 = (13,3xl+ o ]=4.6+{}.65 =5.25
= 15x -2 =13 - - 3 10 20 _ |
= 15x=15 Ans: D. | | ._|
Lx=1
(i) =, y=6.1-1=35 IRIERR-D
~(x,¥)=(1, 5) .
A, ﬁmqmmﬁﬁaiﬂ;ﬁmﬂw
U LG =% 36 (41-42):
40 9 100 S TR ¢ T G R 5 7T aﬁﬁ?mmmwéﬁm%mmwmm:
A. 61 B. 69 C. 71 D. 73
10T - 40 3t 100 148 Taew G il = 41 o (FE FRPIGE__ (41) __ 0 0% WA o e
| - s (5 o SRR, _ (42) _ TR R | (N R SR A
| RO Gl e = 97 ST 5 | (PN @ R AR Wi e | e o
_A+97 _ g - s meﬁﬁmﬁmﬂmmmtﬂmﬂﬁmll
| 2
Ans : B.




C. (o I D. YEedAY ' A.wler B. B C. &
T e R e - | T = G S Ik Gy (9% O:
o THIF ©1A QTN [0ITHA - wovsses sl | | |« afrm ewm v W ot G s
wmﬁﬂﬁm o8 @ : W-Qb&nuunﬁ"’fﬁﬁ1 -
» <51 TR s Fcafersn - o &t o SFTSTRAT R ST R0 ST 23 SR S - - G WRA |
o (2 CTANCTEA! FIH SIS ZTATR - SIS S | -ﬁﬁ%ﬁwﬁﬁhmmmwﬁﬂ |
o 99T 1 B0 (R I - mmcasrérmu - IS TR WS, €, TR | |
Ans : A. cﬂﬁamﬁmwﬁ fﬁﬁm.
I A wee 2@ B. qleeA SFTAl Ans : B. - | |
C. SIHEH D. Wﬂﬁ m Cross-cousin I |
T : SR 1R OU: - A. TS SREH B. <CS! SIREM
o TUAF SAA (@R WSt ferEl- oy Iy wEfEts | - C. oISl SRWEH D. &2
o <[SIGTAR FY NGHI TH- "HOwY, SR G B e IR | Tt : o7 e I TR SREH 8 I IR W FSe |
o TG CoITETE: QFa ¢ R | ':‘“TRTWWW“WW'
o AS1GTE IHAF F0I CATAREN- Yok S | = B
- 1908 T REX SR ISR SSTacs ZoIl (6B 1A
A:fgnmmmmwﬁﬁﬂ ﬁlﬁﬂﬂﬁiﬁml ﬁ Tmmﬁwcwﬁnm.
memmcﬁﬁwm s 'ﬂﬂ,ﬁ ' '
. A. Dacca %fsa%« @@ Dhaka P [ e . D |
® T - Sbbrh-d%obr @ (M J&F) |

B. fmfirafRa wrete 13w
C. Bengali &% 312 Bangla

D. 3B « T _ |
T : S 8% O T o SITHIEH - SRATSY A1 WTHE |
-mﬂﬁmwﬁmmﬂ YN T - 9T, Sebb |
o WY FL0NaA TG AW A - ST, Sobrr | :
o <7 e . A R T WA 1 TR SRgS -
o ST RN Y- DI TR U (T RE0Y T QR | ' |

-B W Aoy e - Da.t:.ca}Dhaka R | e o AT o TAab (e & S
engali>Bangla &R 31 2 | | |
Ans:B. e . - i ‘-@qﬁ T Gd
m = — e WEChE T | 08 U, 58A% | piviidanrle
A. o m A B. IR o A P AT T S A6 | b 4P, 359 | arwf
c e wfel AR D, YR Sl e TR P IR | LR, 35 | Ao
! : e B T e ﬁﬁ,W: G R oA | Sb P, 389 | gracrare
o G f5157 Te - v | g R ST #Ee O | So ferwd, %A | G e
o f5foate 2fo® - dbad A | TIZ0 CTE. Troeq I 20 S0, ) | e
o fofbere eyRe 2 - I € QA S STt | WW’P’WW ¢ GT0¥4, 3595 | Tpam
| & worera B Si@a® 431He 20 - 00s 4 (383¢ i) Ans :
o qTErad 557 2law fBfa Exe - =1’ TSI TEEa | Facehunk buys data from third partles, gathered
Ains : B. frt:m]I both .tnnllne dand off-line sources to
= supplement it’s own data on __.
ii;%?{;‘%m - o EL pell A.company _B.users C.market D. public
C. FAO &fsst D. WEP &8 At : Facebook huys. data from third parties,
IOt mﬁﬁﬁm\ aSORE: gathered ﬁnuﬁn both online and offline sources to
e Frefs. Sa8¢ TR Sioe supplement it’s own data on users.
p it il wd- TS S N (AT BT T IR, STRA, TR GSF
EU sto5- y58¢ ICAO- Y9A4 tﬁﬂﬂﬁ@ﬁf@mmﬁﬁmmwwtﬂn
FAQO- s8¢ IMO- s Ans : B.
WFP-33L) FAGHAL- DY
IDA Ysvuo OPCW- Y»»14
Ans : D.




B e ) 8 o2 4

"SR T O U ry-Sivs” -a® e i wfeer o R CTO7 IACRAN-
A. SITSHY IMGARA B. e NI I ik TR el L IR
y | e R q | OO AR T
‘_ T AT 7 CTOTR T g
® [l THATCAT MG AITH, 393 A | N e AWM IR y (O S G CIga
| * =fafbe- g o R oo @ 5.« g O . TG
® S[ISHIHRA BAE- IWLIIA (e FHEH &Wa) | o 5@ G N *{PeqIR N GO 9,9 e
| ® SR SR fiow- {67 o | GGl ), ] T P e CTRTR ST I ]
|| » SRR BfF- SR e @ AU TY-SS | R e fogaem wa So | Ty |
1 offSr e & qu | (5 9 74 Crer femen ARAH
TCEA A oL =194 e | ' ¢ | TR AT |, | G Y O ,
Ans : A. o | SR TSR RS CHTIGH FATGR W
CID 7 +faet For | AT R A

A. Criminal Investigation Department S TN G |

B. Criminal Intelligence Department Ans : D. |-

C. Criminal Investigation Division Read the passage and fill in the gaps (56-60) :

D. Criminal Intelligence Division The Dhaka Mectro Mass Rapid Transit (MRT) is a new
IR : eFg| g Abbreviation- metro rail system being developed by the Dhaka Mass
e CAG- Comptroller and Auditor General. Transit Company (DMTC) in Dhaka, Bangladesh. It is
e CFA- Committee on Food Aid. expected that the commercial operation of metro rail in |

||  CID- Criminal Investigation Department. Dhaka will begin by the __ (56)__. The original
e CPD- Centre for Policy Dialogue. implementation period of the project was scheduled for

l e CIRDAP- Centre on Integrated Rural Development | 2012-2014. Each train under metro rail project has _ (57)__
for Asia and the Pacific. _ that can carry a maximum of 2,308 people at a time. They
Ans : A. werc manufactured by Kawasaki Heavy Industries Ltd in
HBRI <7 7 2 __(58)__, according to project officials. Mass Rapid Transit

| A. House Building Research Institute (MRT) Line-6, the country’s first metro rail system, is being

B. House and Building Research Institution built at a cost of TK 21,985 crore. Once complete, the metro

C. House Building Restructuring Institution _ rail with _ (59)__ stations will be able to carry _ (60)__
D. Housc and Building Re-counstructing Institution | people an hour, reducing travel time from Uttara to
It : wwgyd g Abbreviation- Motijheel to around 30 minutes, from about two hours by
e HBFC- House Building Finance Corporation common transports on regular days.
e HRD- Human Resources Development. A. first of 2022 B. middle of 2022
e HBRI- House and Building Research Institution. C. end of 2022 D. first of 2022
® lei-High Yielding Vareties. | N ERE LT “ﬂ%w= . -
Ans : B.
Y it =ToTAICS T A ST ST s | | © T DL - IS, 3033 7
e T @S | Tl T o (TEHIRTER &fe @ It AP - ot 30 |
A. T% 8 WA TEWP B. %7 8 AEPIE TEw o IR GRS 0o FTAR - TR FheTiifFE @i |
C. e & o Tots SFg D, Wael @ i ey o CVEIEET GG TH Aet - S |
W=mﬁmﬂ1‘fﬁ'ﬁw= ' . ' o 2if% GBI GG TR IZH FAE - Lo,000 & |
o T *¥ifG- ~Igre Sfe! e Seome | o BT W BRFED i oiffe <0 - © &7, 2080 A |
l o Tl ZEeT- 51 @ TGS T | o G ST TRRIAR SR #RT - ¢ oho @B SR (22%) |
o ZIRTA- CRISIET HCE T, WorEAel @ A fafeR st Ans : C.
o TrifATa ReMe® - I 9 | , A. six cars B. seven cars
o Z7SfT SHFTICA T CHTT - S0 I | C. eight cars D. ten cars
Ans : B. = Ans: A. |
1971 mmmﬁm ol A China B.India __ C.Thailand D.Japan _
A. 13 B. 16 C.17 D. 18 Ans : D. : |
T oG g o- | A. 14 B. 15 C. 16 . D. 17
|| o S»ay A \s G AETEPICE it - FEE 0.4, S | Ans: C. -
Tfeguas ATSTIE G159 - do TR (G 37 | A. 60,000 B. 65,00
, < Frafirs oG] TSR el - S0 CHUGA C.70000 D. 75,000
o GG R fore - oft K e/ S cerf/ Z o] | Ans : A, '
o 3G T 5 GISTA GG TS L. St B | NE : |




A. gt B.wwamed  C. fmaR IDﬁﬂﬁﬁT
‘ [ | Sorom | <eTeE sl
Hem wwe 7R sl ¢ TR e Cfige | Afefe | TR %ﬂﬁ_vmwﬁmwm
|, ‘coi 1, “Swta Rl | awgte fofy wevE _(2) A Rt B, C. By D. *i5

| I
AR : TS O Y37 '8 (T
| wEEeR | T
firsa word @ LW el TAFE TAwE J7F QA ©F | | Ans: A & C..
forares | RS o o fofr (3) ot | RS At 1t WWWWW-

ERIE T o1 +TH-
TR AR (RS0 : B) [E} TR e
e : 2020 [Set - E] |
AG1 a4+ ™49
A A 7 T (1-4): ot | T
(1) Oga <00 | ©F SR oF e T’ e S mm-wﬁ; -
@ AR ATAEE ot ey fofa  (4) e e zaeed | THH, D, A, A, A I |

Tl A. <Frem ffrs e B, Ff wiearer «Rige e mﬂmmﬁﬂmﬁmmWWW|
C. e Aeam D. i1 citgifdl (= 3% Ans : B.
Tt : aﬁmwwﬁwﬁﬂqw || o7 qumﬁwﬁmwmﬁr
IR | 0 T, S5 | | A. =R B. 3© C.T D. 9F™
_q__g_ BIF | R0 ACSHF, S5dS | | TR : o "BR Wig o iTEt e [ @3 il [y FReT
E"'ﬂﬁ Wﬁﬁﬁﬁﬁ,ﬁ@ﬂﬁt‘ﬁﬂﬂ@l .f@m'mmﬁﬁm| |
A | TV TRE RIET (O5RR-550R); o T4 6 TG A IHCERITE CITCA! o1 “ham 7 12 |
| ST SREm (d999-5599) | SR, ' IR - AT W3 I T e |
Ans: A, | . Ans : T2,
A. Sl &TF, SIISIRA 8 7o T <ot IS ‘a” « ‘8" T0R-
B. #fel, 5w, 7 @ fewl A Gifs¢f B.difead C.cifewR D. fem
C. 515, 76, &TF @ TR T : o T T TaRGE T - W, o, OO, R, ©, @, 8|
D, &%, *fF, “Howe Sz 6 e o &, 3 T - AN TR
WWW” ARy Ans: A & C,
AR T (dsor), T FEE (dded), TH 8

GRA (35¢9), Taig JRA (dvos), ST e
(Shub), JETH I (3590), (TR AICTH A. 703 TEFY B. faey s
M A (S5aR) | C. Tolom TegFs D. ST ST

™ ﬂfmﬁﬁi_(hh*?”l)! - IO : FN-IEF 9B T (F, 7, @R, T, TR atﬁm
E:r»ﬁﬂf‘{ﬁ crfstars famsfE (Shuy) | mmwﬂ%@ﬁ,m(ﬂqmmﬂﬂm%?ci
ofewd | GITEEA I (35bd) | I § ST = WA |
WISEA | AP WHIAE A (Sdbd) | TG T = NEHS |
Ans: D, ' : 1 wfe a1 = Ffead | -
Egmﬁmmﬁﬁ[ﬁm B. TqFe! S Ans : A.
C. TR iefs o D. siemteet vk el | [ “re-wift” e wd-
T : A FINA-A IS HER @ AL A. wTsl B.¥w<aws  C. wiftar D. $*i
o O 819 6 SR S FLATEA - ¢o fowe R | TN : » A IE Q@ - WO @ 0 5 TSR TR - 9 4 | |
» TI1-R-2(GY1E, vrrﬁma[mm):ﬂwﬁwsmmw » " SRg! - i | -‘m—ﬁmf 0
o I GFTE F7FE (S5LR) | T Ans : D.
o (TSt faw W (3590) | _
: oS (559Y) | -
-ﬂ;ﬁmm(sm) @
;:TTWW(HH)' . m a+b=9m, @R ab = 18m* T, a - b = W@ IR F?
A ST B.*mesd C.IRwel D, AR e A.13m B.15m
mﬂwﬁ@,wﬁﬁwﬁﬁmﬁmwﬁm C.+2m D.0
o) 3ffFR ST T e Sefice e = fof R | | [ TMt: (@ —b)*=(a+b)’ —4ab=(9m)’ — 4 x 18m’ = Im’
TR SYTS, 2feRE e R 7o Rew wéem ke | s a—b=+3m.
Ans: A. Ans : A.
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B = chet Wiy on iteew wee wom 15 R ww @
Jieew e T vor 5 .M. | AR @t Rfr =

A. 9% 10 .17, B. 9% 15 f&.f3.
C. 9%m 12 & . D. %17 6 f&.f.
Tt : 9IF, B+ C =15 km/h
B-C=5km/h
ari s, 2B = 20:>B—~l[}kmfh
Ans A. DR
&} If(ax — cy, a’ — ¢*) = (0, ay — cy), find out x/y = ?
A. c/a B. a/c
| C. a’lc D. c/a’
IW:ax—cy=0=ax=cy= 'i=‘£
y a
| Ans : A. | | | -
T 40 = 100 mﬂmﬁfj@ ﬂ%@ﬁﬁﬁﬁﬁﬁ%ﬁ?
A. 61 B. 69 C.71 D. 73
|| 3Tt : 40 = looﬂ#ﬁwcﬁﬁ:ﬁﬁw—tu q3g
3Z5T G st - o
e 41+9_7 _69.
|| Ans : B. - b
5+11+17+23+ ....... +59=7
A. 420 B. 320 C. 220 D. 520
YL : QIR a= S,d_=..,6;ﬁ'= 2 -351E "
| i 10 e b B
8= ——~{Za+(n—1)d}=_—{2_x5+(10-1)x6} =320,
|| Ans : B. 70 3
I o sk et 264, At Goa=ie 132 7, Wawr

Al B. 2 C.3 D. 4
[T : qfo NI 8% = Wﬁmﬁxﬂﬁiﬂ o ‘

:>264-a132xx:>1 2
Ans : B,
mﬁwwmwmat@ emﬁwfs pet—y
T | Sf RN I CHAT IS INYT?
A. 136 B. 128 C. 204 D. 208
it - o b oFIw = 2(ab+be+ca) 00 -
= 2(4x6+6x4+4x4)
= 128 3fg5
Ans : |
18] rrrawmﬁas mﬁmmwmswmnm
AT TR?
A. 13500 B.13800 C. 14000 D. 14400
Pxnxr Ix100 _ 7000100
UKD 100 =P er . 5%10 14000
Ans : C.
Bl
A. 247 B. 340 C. 460 D. 640
eyt : 1 FMRA = 6401&#@1 | -
Ans : D. -

(40.25+5)+(0.07x5) _
[ (0.15%8)+(0.18+0.2)

A.75 B3  C5 D. 4
= ---'(40 25+5)+(0.07x5)" '8.05+035"" 84
T : .
015x8)+(0 18+ 02) 120409 21
Ans D. e J

Read the passage and answer to the questions (21-25):

If the salinity of occan waters is analyzed, it 1s found to
vary only slightly from place to place. Nevertheless some
of these small changes are important. There are three
basic processes that cause a change in oceanic salinity.
One of these is the subtraction of water from the ocean by
means of evaporation-conversion of liquid water to water |
vapor. In this manner, the salinity is increased since the
salts stay behind. If this is carried to the extreme of
course white crystals of salt would be left behind: this by
the way is how much of the table salt we use is actually
obtained. The opposite of evaporation is precipitation
such as rain by which water 1s added to the ocean. Here
the ocean is being diluted so that the salinity 1s decreased.
This may occur in areas of high rainfall or in coastal
regions where rivers flow into the ocean. Thus salinity
may be increased by the subtraction of water by
cvaporation or decreased by the addition of fresh water
by precipitation or runoff. Normally in tropical regions
where the Sun is very strong, the ocean salinity is
somewhat higher than it is in other parts of the world
where there is not as much evaporation. Similarly, in
coastal regions where rivers dilute the sea salinity is
somewhat lower than in other oceanic areas. A third
process by which salinity may be altered is associated
with the formation and melting of sea ice, When seawater
is frozen, the dissolved materials are left behind. In this
manner, seawater directly beneath freshly formed sea ice
has a higher salinity than it did before the ice appeared.
Of course when this icc melts, it will tend to decrease the
salinity of the surrounding water. In the Weddell Sea, off
Antarctica, the densest water in the oceans is formed as a
result of this freezing process, which increases the
salinity of cold water. This heavy water sinks and is
found in the deeper portions of the oceans of the world.

BY What does the passage mainly discuss?
A. The bodies of water of the world
B. The elements of salt
C. The many forms of ocean water
D. The salinity of ocean water .

IR : Passage & Rew wwmsa e «wf® @1 3w
passage g9 G € (¥ WTAGAT (T3 | passage a3 1st
sentence 99 S9¥ S 7= Wee- If the salinity of ocean
waters is analyzed, ...... w4l The salunry of ocean

water =S STEAT! Fa! 2T |
Ans: D.




e YR | 6.

B

has more salt in__.
A. coastal arcas B. tropical areas
C. rainy areas D. turbulent areas

According to the passage, the ocean generally

Ut : Passage ¥ TRMIRTE @ wwz- Normally in
tropical regions where the sun is very strong, the
ocean salinity is somewhat higher than it is 1n other
parts of the world where there is not as much
evaporation. e Tropical areas 4 @ =19 SR |

Ans : B. _
All of the following are processes that decrease

salinity EXCEPT

A. evaporation B. precipitation

C. runoff D. melting
gt : Precipitation, runoff, melting T ofF @M =W |
o Siifi S Q@ X R SRS IS AT | S
evaporation < AT #Hif I P BTG T | 9T Al
oifad 0 T A0 Sgee @F R L
|Ans @ A. ' '
[¥] Which of the following is NOT a result of the

formation of ocean ice?
A. The salt remains in the water

B. The surrounding water sinks
C. Water salinity decrcases
D. The water becomes denser
11 : The results of the formation of ocean ice are the
salt remains in the water, the surrounding water sinks,
the water becomes denser. SFfte water salinity
decreases - the formation of ocean ice &9 result 7 |
|LAns: C. K
What can be inferred about the water near the
bottom of oceans?
A. It is relatively warm
B. Its salinity is relatively high
C. It does not move
D. It is formed by melting sea ice
1 - Salinity T A N T7g @PI AT 7 & 9o
onfea s @ea A0S | 13 & fiew @@ Salinity @3 =i
AP @ AT | -
Ans : B.

m ‘Foam at the Mouth’ refers to
A. A very tasty food or meal

B. To be enraged and show it

C. An enjoyable day

D. To raise someone's hand _
010 : Foam at the mouth - (3@ @ A 7aw) - to

be enraged and show it.

1ol «7 o wdert- (i) be extremely angry.
(ii) show uncontrollable anger.

(iv) display furious rage.
| Ans : B.
Which of the following is the Synonym of ‘Pensive’?
A. Oppressed B. Thoughtful

C. Happy D. Caged

1 : Pensive - B@r@, HAxy |

Synonyms: Reflective, Contemplat

_ Big, Noble, Facile, Glib.
Ans : B. - '

Pensive <3 3% Synonym <3t Antonym:

Worried, Concerned, Thoughtful, Sad,

Bored, Depressed, Dreary, Dusky.
Antonyms: Easygoing, Free, Smooth, Independent,
| Fugitive, Generous, Liberal, Bountiful,

2021 (45)

ive, Meditative,

Select the word that most nearly the opposite of |

the word ‘Droll’.

T : Droll - TR, THLT |

Ans : A. |

A.Sedate B.Charm C. Absurd D. Forget

Droll 47 3% Synonym <3t Antonym: |
Synonyms: Charm, - Absurd, Joker, " Harlequin,
Mountebank, Gagman, Funster, Clown, Mimic.
Antonyms: Sedate, Dull, Limp, Tame, Faint, Lifelcss,
Yawnful, Weariful, Dilatory, Lusterless, Feckless.

On the results of the survey__
campaign, we shall wage.

A. depended the extend ~ B. depend the extent
C. depends the extent D. depending the extent

and the type of |

W verb & 1 < Head -word 2R

1yt : Subject plural = verb ¢ plural = | Head word

1% verb 2@ depend 1 43 depend the extend TS T |

results, T plural |

Ans:B. fy | |
30. Arrange the followings in sequence (Dictionary Form):
i. urbiculture ii. urbanologies
iii. urbanization iv. urbanities
A.i, 1, 11, 1v B. ii, iv, 1, iii
C. iii, i, 11, 1v D. iv, iii, it, 1

Ans : D.

M ¢ Letter SUr Dictionary T @G TG | Urb
¥/ word @ T | Urb @ #ics Letter ™=TE iv @3 Letter
T S| TR 1 21T i, ST ii '8 I | I |

A @

aE o I T At e WISl Y SN

fAeea e Al =% s (31-32):

otufe e g2 W g | TaefEe gt ez (31)
A G e TTe e, O el 55 7R 3@ wr w1 |
W J G T 7AW @G- WS S0l A6 /A (32)
LIS I T Pl | oo wger TAfs @i o Aol
BT SIS MO | QY SRS G0 (e ICT WS

Y P | T2 Wi FArS 9F T
Bl A.faefie B.fss  C. 9o

D. 9693t

TNt : gy g u: |

o (TTF THITA (514 T TS - 92 @ T

Ans: A. :

-Wwﬁlm oA - CETIETEIE
s G GIRGI Yorefd BT Feres - FgF |
o ‘TEIETO T, (T2 (TR GRTAA SR Sfeit - TG T4 |

o 57 Sif S G ofie ZeTe oAl Praga TR |

bt DTAC T [TAGR




BREAS, - g  | mang-um e

Bl A crvdrm e B, e TNt - oY g o-
C. & 3% D. (SIS o oA (A FLLY 1 I T - :nﬁsm -‘wa.ul

Yt : wwge| g wu: o ST AT AT T - 33 8 deR e | |
|| ® TR & o & et GTReE- @ | o Ml TG FFAMTEIR TG - JENTT (TS IS0 |
|| ® CrR =i - wgfem . o 1] TIgA o SRarAIFs wfiw it - sdv 871

* TRER AMTS 7T WeR- 875 | -quomqﬁiw St |

° IHIFA T WEARGTE- o ST | Ans :

® IHIFA ML REARGTEE M- 00 IFEE @ | ' A. DEEEII‘IbEl‘, 2022 B. July, 2022

Ans:D. C April, 2020 D. June, 2022
Read the passage and answer to the questions(33-37): gt - wwgyd feg v '
The construction of the Padma Bridge started | | o Gt 5¥T6tR &0 “AIeTga 05 7T SR - @0@ 1

in__(33)__. The _ (34)__ multipurpose road-rail bridge o YFTEd WG - B (AT |

on the Padma will connect the capital with  (35) | |, AT TGS A 5 e W - Gl |-
southwestern districts. It is expected to boost the o STTITTSR CTID 4122 e - Qrefd | b s
country's gross domestic product by _ (36) | :
percent. The scheduled deadline for construction was | |° 2P q’l’ RaReL

June 2021. But the government approved a proposal to | LAMS : D. '
extend the deadline for the much-talked about Padma i eEieTt AR WW cn fAsa @HW

Bridge project to_ (37)__. At 6.15 km (3.8 miles) in o Tt
length, the Padma_Bridge will be a landmark structure A. T O IR TAH TS T
and one of the longest river crossing in the world. - B. w@fFe 1t SFF ¢o
EEl A. November, 2014 B. October, 2014 C. i seryTs Faom 397 e
C. December, 2014 D. January, 2015 D. gfaTe Qg mﬁmﬁaﬁ?mﬁ
T - eFg g, ou: || [t s e e R a7 it o |
o o1 Rt wiefmE iy - '[hePadmaMultlpurposeBndge -emw:-vr-nqq SH% aaqﬁﬁ’rﬁsmm ' '
o FyaereR bt - mm@ﬁiﬁﬁﬂ@mﬁﬂﬁm - -meﬁﬁm
o i fTew F15 &F T - q forva 2038 A | TR w@mmauwﬁqmﬁm
-?ﬁ‘ﬁﬂﬂﬁ v, 3¢l 932 3t 30fTBR | 25 -iﬁawqﬁwﬁm G X
gﬁm@amﬁmmﬁa—ﬁmmﬁmwn g _ mmmmmﬁ—awu e
Ans C # Ans :D." A
A. 6.15 km B. 5.15 km B R iR coree
C. 3.9 milcs D. 6.15 miles | A. T8 R 7S B. 385w cemeadl
TN ey Rge: - Wy 08 C. A o B ¥om? D. crEfo?
o A (137 CNT 1% - 830 | | | [ e RS e
o S GTZA ~>IT 7 - 835 | 1| | ook wﬁﬁﬁ-miﬂmﬁrmmmﬁm waﬂim
o fEf =1 27 - deofd. | - o TN RS e - W e om0 i
o T FHAR (AT S PG 79 - deofiBR | - lﬂﬁW‘ﬂﬁﬁWﬁWﬂtﬁﬁE—mﬁﬁﬁml
o 7 (3TA () &% - bb&ﬁ‘ﬁﬁubh‘huﬁ%ﬁl 1 .ﬁmww_mﬁﬁﬁﬂﬂﬁwﬁﬁ| |
Ans: A. . | » STy 2R - TETT e, A I SRS, T,
A 17 B. 19 WWW@W@?{@WWWI s
C. 21 D. 23 Ans C. =
TR : o1 g AeE ey R e RO —
o IR WS TP - 91 OTg | | A. UNESCO afest B. TG 5/
o AL e 3= CTg - T e | ' C. UNFPA afs#t D. OIC afsbt
.w.mawmw-mumﬁ?‘ﬁ,anHWﬁl | BRI Oﬂﬁﬁﬁmm _
o o TS YT i A ¥ - 04 G 0 A et | UNESCO- 1946 WEFP- 1961
o ] (TR ST = ICT - Tt TS | Internet- 1969 UNWTO - 1975
o o GTY BT N YT FECE - A3 (T | I(.)RI‘J;PI:EG;QGQ ill*Ja:tJII;eﬁaSguc 1945
|| Ans : € - [IFAD- 1977 UNED- 1972
iy A 1.2 B. 1.8 o A .
C.2.1 D.26
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[l e Reasam Z3E oFm are T0-

A. cifr wirwg B. fHfam C. oefq
JML : TS TS g g oeg-
o WIS B 2IFA T F10- BAT QTTey |
o 2MCFA AEYRL- I |
o SR TS (771 JOS, N W, Tl PR, was, 3o
o Y- 30 3% (P e 5\) |
lmmwm-ml

D. GREA

Ans:D
HParnllel cousin ¥Hi?
A. WIS SIRTEH B. ¥iTe] S13wm
C. BIbITS] SIRWH D. =R
T : GG R, O-

o TR FifEm ZE1- SISl WSt SIREH |
o T IR - NAICST/ FHITS) SR |

o (G- BIOITS TEICST/ THITS]/ TS SEEH |
Ans:B & C.

1934 et B>t R e soam i 95 w3
w1 3 R #ifH orewt z0-
D. =gfam

A.71Eems  B.erwE C. 3o
TN - ﬁﬁm#ﬂmqﬁmwﬁuwﬁﬁqw-
G-I - Sth8-508 |

| o ©iF I e 91 =Y - vt fifamnien, bﬁn'mfér-zﬁmﬁm
\f5 TR AR () 3 IO I GG GO | |

o fof7 {o™ =IPR T & FrERET - soamE |
o 7 O Fo>[w fewe cotterm eofem - "W’ @7 Y | -
o T T = - %ﬁﬁwmaﬁmwn -

Ans: C _
h 1971 AR 14ﬁmm'lﬁwmmwﬁmmﬁ-
A, SEFETH 3fFTE B. SEeE TIXTH
C. & oyt D. SIRER A
T : 38 TOWGER Foeem "W JeaaE am- -
o Y2 (BYaM, Frampala @om, ©f, W&y G1gd), *2qar
FIA, ©. FQCE 9, SRR A, TRm g9 79, O
el WA, Sk 39, STl MRyw e | -
[| Ans : A.

Facebook has often been __ over issues such as
user policy, political manipulation, and mass

surveillance.
A. criticised B. encouraged

C. admired D. supported
it : Facebook has often been criticised over issues
such as user policy, political manipulation, and mass

surveillance.
wd- IazE ATS, AAfeT BT UL TAHAIER e Ty

o e e sTeS e |
Ans: A,

I fifre cme wrR TREre el 7w
A. &9 B¢ B. RitT5% OF
C. VIR T D. 3R W

TN : wwrge g T @ I&iw Aw-
| » e e stz - ame aigd
* BT 12 TR QARTH, CIRE TR 143- T Reasr= |
o TeEa TR oot Rt “A191- AT o1 5
o (I, B TN AR TXM- Tl e 2 |

* IINF Q@ Y9 Sifewitz (191, Wﬁaﬁmw-ﬁﬂ%ﬁm
Ans A.

i oo g RAW a7 o R
A. Research and Analysis Wing
B. Rapid Artillery Wing
C. Rapid Action Wing
D. Residence Action Wing

I : oF g 3% Abbreviation-

* RNB- Railway Nirapatta Bahini.

e RAW- Research and Analysis Wing.

e RADA- Royal Academy of Dramatic Arts.
e RAF- Royal Air Force.

e RDC- Research and Development Centre.
Ans : A, |

BSTI 43 a4 72
A. Bangladesh Standard and Testing Institution
B. Bangladesh Standards and Testing Institution
C. Bangladesh Standard and Testing Institute
D Bangladesh Standards and Testing Institute

N1 : oF gy g Abbreviation- .
e BRTC: Bangladesh Road Transpnrt Corporation.
¢ BTB- Bangladesh Tea Board. .~
e« BTCL- Bangladcsh Telecommunications Company Ltd.
e BUP- Ban gladesh University of mecssmnals
) BSTI Bangladesh Standan:ls and Teslmg Institution.

Ans B. -
ﬁmmﬂmwmﬂmmmﬂwm
A. 3o o B. *igMe s=mp
C. TR 73 D. 3 w=w
TN : e R e-
o JIEEN AT ST - HBQ—HQ:‘: ’l'lfﬁ 1.
o TRISTTA Io -1+

-wmwmﬁmmﬁmmwu
o RISTA AER NHI) ITH- I | ¢

* I 2T TeFTet o STE F- mwﬁ’iﬁﬂm
Ans 3

[ oo TR R A, W 57 - @ S
A, TETE wifE g6 B. ZmfEa ¥F
C. foq1am D. at. w9l o

TR+ FRA X T ool 1g ow-

® TEFE-JEIATE - ddd3-db-o I |

o e - sifFam cmaEe s, AT AR |
® Y59} I T ARATT QT ST o7 - B A )
o 78 AFFIETE FEOHE AR - Rl 4=

o AT (TITTOT) TgE BIR =, ﬂTFEIiE‘f@ﬁ BUIEA A |
Ans : B.
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| Z, M 3 719t 9 R @ 405t 1 N, K 4 7191 8 M |

R S Rt 7-

A. SEEeM QR & Y S
B. i3 «ifawid [ genes 1o I=39
C. = wiv [ amaiem [oe
D. W9 8 Sy Seifed T4 AN

TIYT : GIR, O : (7 Tl SRS FTCER Sae SR
mwﬁmmﬁmmﬂsﬁmvﬁqwm
C7 {0 SFEeed (02 O ¢ |

o Gifomy ¢ soura @ AR ¢ S R awife
a%@m@w%mﬁﬁtﬁwwmﬁmwm

y. Wiig IR ST e G |

2. of= TFn Qe 4fE T9RR
mwmaﬁmmﬁﬁmmmﬁmmm
TaTw f{Tasd 9| |

Ans : C.

S Which set is different?

A. USA-Canada B. India-Bhutan
C. Myanmar-Sri Lanka  D. Iran-Afghanistan

I : TP SEAS TR T USA-Canada, India-
Bhutan, Tran-Afghanistan e sag 90z 1 Se<s)

lﬁ@MyanmarSnLankammﬂm
Ans C. '
3 SR i
A. AR TS B. fAerfasis sre
C. poiire D. 331 e
T : EEAIE S, ﬁﬂﬂﬁﬂﬂﬂﬁﬁﬂm@ﬂﬂmﬂﬁﬁﬁﬂﬁl
Ans: C.

If arrangement of 12593 is to 35291 and 29684 is
to 46982, therefore 72936 is to-

A. 72936 B. 69237
C. 23769 D. 37692
Tt -
11[2]15]19] (3| to|3][5 2119]111]
a b c d e e ¢c b d a
21191 [6] 8] [4] to [4][6] [9] [8] [2]
a b c de e ¢ b d a
71121 [8] [3] (6] to [€] [9] [2] (3] [7]
a b c d e e ¢c b d a
AnsB

| AT B ﬂﬂIBECWIDWCﬂWIE'@

D «7 301 | E 93 A a7 Wy 7= 2

A.TT B. i
C. AHi | D. wil
I B (fren) T, C (5167) o D ()

E (%)

mmﬁﬁnmmwmm

A.R B.Z
C.M D.K
A : M<Z<R, K<N<M
L K<N<M<Z<R
. Foty 7¥ = R, 60 A%t = K.
LAns : A. | -
Which two letters come next to the arrangement
of the letters AZBY D WG T?
A.KP B.CL
C.EF D.MO
[ -1 2 -3 -4
AZBYDWGT
Y ¥ Yy ¥ ¥y oy @
} 26 % 25 ﬁ 23 ?:_20 lll 16
175502 3 4

A. 08l TR S0 I 8 AT (AT S o |
B. T SlomE! @ S TR Sl (AT e A |
C. (& 394 *[ 99 (3 QR weasl 8 St o 0 a5 g |
D. SR oo 4@ fom 2 I Wt (ST (D
fa7® AIp=/fge U |
T : OACER {oPr: |
o IR (e IR 4 T WA @ I W, St 35 A e |
o IR WER TR Wb TS B I TR @ e
I ASI[ 8 (U ¢ CLFS YT, DR (T 5[ I[ °F T4 |
o T4 3R (5TH W4 IS 20 WPITS® TE R S799 403 78 T |
-mwmaﬁmmwmm%mﬁﬁbﬁmﬂl

Ans : C.
] Arrange the words given below in a meaningful
sequence,
1. Police 2. Punishment
3. Crime 4. Judge
5. Judgement
A3, 1,2,4,5 B.1,2,4,3,5
C. 5,4,3,2,1 D.3,1,4,5,2
: (3) Crime — (1) Police:— (4) Judge — (5)
Judgement — (2) Pumshmcnt ' =
Ans : D.
. Flow : Rn'er Stagnant 3
A. Rain B. Stream
C. Pool D. Canal
il : Flow : River :: Stagnant : Pool

TMITS T&SIE ﬂﬁmmmm*ﬂﬁwmr

Ans: C.




